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1. (30%) a8 Gerber-Wichardt [JPubE 2009] &z &8 rERAZ T
B (Prisoners’ Dilemma) @, RExmMINGE (1,2) ZXRAERATT:

1N\02 ‘ Confess Not
Confess | (=3, —=3) (1, —5)
Not (=5,1) (0, 0)

ﬁﬂ%ﬁlﬁk*ﬁ%%nuﬂﬂ%lﬂ:a‘ﬁ”ﬂ%a%ﬂu%%f*%o@ [ | SR [HG# ], #& (d1, do)
R BEREE f A7

(Ans) Let d be the deposit for both players in this symmetric game.

For either not to confess, deposit d must be such that:
—3—d < =5, and 1—d < 0

Hence:
d > 2 O

2. (30%) REMEEE (1,2) LBARBERE:
Ur(z1,y) = [z1+ a1y

Us(xg,y) = [$2 +az]y

Hit o, BEAZHERE, y B—0HY, T (a1, a2) BENAESHSE
/\ﬁlﬁrféﬁnnZL IR L mRlCAERECRE T HE v S0HER
AZBREERR?
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(Ans) First calculate the MRS as follows:

T+ ay To + as

Y

MRS = , MRSY® =

The Samuelson foc is hence:

[ZL‘l + ZEQ] + [CLl + ag]
Yy

=1

In addition, we have the aggregate budget constraint:
1+ a0 +y =1=10LHL+1

Therefore:
I + [CLl + CLQ]

2
Optimal y does not depend on distribution of private good (x1, ). O

y:

3. (40%) BEEHER n ERERER. SRAZFEYS $100, SAHH:
Ui(azi, G) = I G

Hh o, REANZIWERE, T G RAHEM, SARM G & [&%ER] (weak-
est link) ZAHBOE, HAHS A B BEBRES:

G = min{gb R gn}
am bt I AR G REGREETLEAR n BT B
(Ans) With the C-D utility function, all citizens would like:

r, =G =g = = gp, Vi

Hence:

and is independent of the group size n. O
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E—EEENALFIAABBMERF, Gunnthorsdottir et al. [JPuE, 2010,
v94, pp. 987-994] &t5w [ 40EE] BET (group formation) TZBEHE
ARMIT R MM —E THEERE ] (near-efficiency) HIEIHETfE,

o HRBHLLER R ERE R

o It [3FERET | RERERMAR? AN,

o Atk [WASEE ], IRANEEE T LIBITHEBE R 8 2 BRI EM
i, MR LURREN R ZBEETREN (BEABCNR). EIHERT
St gAY



